SF643 A 1 8 HICEA L-aE ) B KK SRR E THICB T 2B OETIZ AW 2 B £ 72134

HoOfff & =

| (RRBNL KO B IOV TTHAE TIER < &%) 12O\ T, RO EMEDO LBV AET D,
Pk, BAEEOREE LTARE 2@aEl L, YEEREAITRIO L, %8 1@82kE7T 5,

FEH

ERT

K4

ERT

K4

W R 4T H5&E 15

SHERHAIAT RS TR

HEMWIEETE #HA 2K

B ST LT N ANRT 4755 0D 2

Ve E =2

&M il KA

oMl 6 6H3H

H

+

JEPINN

Az

b

“

T 5 R A SR



HOOfli =%

THEX Sy - T - R - A5 PSR 4 TG B B G R AT & G| R (GBS
SR
= 1 30, 193, 391
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= 1 29, 223, 237
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= 1 17, 039, 605
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m3 550 755 415, 250
ERZEs A+
m3 550 3, 358 1, 846, 900
Tt C-40 t=100
m2 950 624.7 593, 465
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m3 70 1,109 77, 630
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m3 170 3,310 562, 700
FEHIA (h=27) -1+ H50, 000m3 A
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PR (L) B - 2. 5mPh 4. OmA i
m3 860 755 649, 300
ERZEs A+
m3 860 3, 358 2, 887, 880
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= 1 374,197

-2- 5 s K i S




HOOfli =%

THEX Sy - T - R - A5 PSR 4 TG B B G R AT & G| R (GBS
HimEE (FE L)
= 1 2,935, 580
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